SRS HUHT NS TE D8 2 DR,

[ BT N AT B DT = DA 5561 |12 HD % BTk B OIT%, #5 5. BRI
ONTRBHLELET,

1 BREOERRUVBEHICET K
O —RBOBFBBER(FHS3E4A1BHRE B A)

ﬁ A B KHRTAE
LI B -~y R~y I 110
= o 2 2 0
“ o 20 21 !
. B B 8 8 0
/’% R A 10 10 0
% fif 9 10 -
7 Bk 1 4 0
i T 0
+ K 0
e 63 65 2
8 & 11 14 .
P K JE 0
§+;i: Tk 2 0
?g% ZDAth, 0
&= N F 10 10 0
® o 3 87 89 -

(E) BB, 5N RO 2GRS IRIEREZ S 2, Rl (BT & -85 |
B RE - R BT A A

@ BEHONR(GMIE4F1BIRAE B AN)

X o T T B AT RT3 HE IRk
— AT Bk 42 19 61 59
G
i R f ik
fB ok W
& ¥ T
S AT
B OB W
(S

it 57 32 89 87

[\l el Bool B Fell Rl Roll Nal BG)

[N Nl IENE B FEal Rl Nég|
[N No Nl Rl Nl el BTSN NJb)
[N Norl IENE NN BTN RSN o o)
[N BN Norl Bl Bl BTSN Noo}




® BWAORAORR (SH2EETOHBERE:H)
HHE4A 1 BHRA (i A)
B | it il

@ BEOBRBOIKIR (SFR2FEHR B A)

X 47 HE ik g
TE IR 0 0 0
FNEIRT 0 0 0
* D i 2 1 3
&t 2 1 3

2 BMEDHKSDIRR
D HABEH(SHNIEL4A1BEAE)

7 —RRAITEUS
X o 1% 2% 3tk 45tk 5%k 6% Ttk
e g 7 F Al FF T e | o : g
b i | | | TET | W] wE | e
B BN 3 12 13 11 12 9 1 61
AL 4.9% 19.7% 21.3% 18.0% 19.7% 14.8% 1.6%|  100.0%
A PREFH T
X 5 1% 2#% 3k 45tk 7
1 YE Y 7 HeR | HeEE | HEER | HEHRER
T 5 N YE | ¥BE | ¥BE | rEsa
TE#(N) 1 0 2 4 7
AR L 14.3% 0.0% 28.6% 57.1% 100.0%
@ FHHRHABEZEOKRR(SMIF4A1HERE)
X 43 IR R A B NSRS i
— AT BT 317,085H 42.37%
FLBE T B 311,800 44 .47%
@ MEHROKR(SHIEE HEDHE
g X 43 ER S
REFHR 182,200
— AT B R 163,100
B A 150,600




@ HAR-EHMFLOKR(DF2FERE)

X 43 6 A 123 &t
WRFY 1.275H 1.275H 2.55H
B T4 0.95H 0.95H 1.94
it 2.225H 2.225H 4.45H
® BHRHFFLOKR(SH2EEEE)
X 4% AR
B2 EDDFY ZHRIREDEE 16.1%
AR SR B 1N M 7= SRR R 78,143
FU O ]
FUOFEHE pSE3 =] P& x|
BYSEN T Y | B ic ke | 1 500/ (AESSTIANRHE
Ty IEmESICERE | B4 550H
® HEEAE3HEFLORR(SHN2EEEE)
X 4y — R EE ESE
A ReEE 7,328,000 (0]}
B3 SPOE J1=RPNENR BSOS X ] 120,131 (0] =}
@ BEBFUORR(SH2EEERR)
e n% fz 50,000
AR A 33,0001
X 4y — R EE HESF
SAaReEE 10,956,000 396,000
B IE 3 1= RPN RBSEF ey o] 421,385M 396,000




ZOMOF LD (FM3E4A1BIRFH)

X 43
e e B3 R "
EfE AL PR T i
204F 19.6695 A 24.586875 A
L e L 254F 28.0395 H 33.27075 4
IS 354F 39.7575H 47.709 4
Ht e PR 47.709 A 47.709 A
ZOMINFEEE IR (2~30%1%)
LSBT0 38 SRGRR (5 Fn 248 8 544K) 6,869 T-H
1. BB A% 6,500/
2. B DN ORI AIZDX, 6,500 (A FEE) | 10,000 (1)
HEFY * BB THLTOIL, W15mEITET S H LB OEIOAH 1 H)Si22
T D H U ORAIO3A 31 H ETOMICHD T, LAIZ-DE5,000M
DN
L 1. AZEpgRE % @%IJH%% VR SEAH Y %E 55,000 P R
2. HENHREOBA FAERECIY, 13BEPEIZX %y (2,000~31,600[)
EER R JE—EL@ VOB
. . TYFEEAKE 12,000~23,000DEE  FE—12,000H
CEEE ) FEHKE 23,000 BOSEA
(& —23,000) /24 11,000/ (27,000 [ [ )
. B3 SOE 308 XAaH
el 24 m o

3 BEDHHBHEEDMDEHEREDIKR
@ BEOYHEM

FEARWRIA O BRLA IRTRRER T
S IRFRH 8:30 12:00~13:00 17:15
*  EESEANCID R ET,
Q@ EXREFHARBROBRSKR (SF248£H)
IHISRPNEDRSSEEC A= E 1 9.3
HibR 28.3%




Q ZnHDKIRFIEDOHE (FH3F4H1BEA)

PRI 0> e 5 5 B % - R % B EAE DR
JE NS E OB WEELERD 55 B e
;; TRV BRI DR E DS A VAEDUN T B LT B D i
125} N ANDYERT 90 H LA THZE LR HILA Bia
INERHMEATRE D728 DIRIR MBSO BIVHHI ] e
FENL BENEAORIEHIT O ORI | M43 EF8D 55 R Hia
B BERIE UL D72 DIKRIR MBSO BID ] e
HEEBIEEI D7D OIRIR VAEIZ 33U\ C5 H & FH N O Hia
FES T DA ORI 5 H LN CRAEL L3R 55 1 e
HAPE D728 DARHE FE FIlT PE £ 45- S ] e
A ERRER 2H LI B
{RBE O OKIE (% ECEL2ON ) |1 H 2EZFE 1304y Hia
;ﬁ ENLET DT 2R DN C B LR DA e
K T snaoreraTsrnokn |2 AT SHUANTEHRLBILD £k
I A
T UNFACAEAEICET HET) OFHOTDOKIR | 1AEIZI3\NTH H OB PN o # R Bia
AL DI DT DRI TR\ T5 H &G PN O 1 ] s
=5 AR FEEH DXSMTIEU1~T B OfiFAN B
TEELRRER (A RED B ) 1HEW Hia
H 7R R 7~9H OHIE TS5 A [#] Bia
RELICLDEROEIBDD 7 B LA T BE LR HL5 A
REEAZLELERT LV E B CERWGE (LB ERD BN Hia
V7L 2K (35-45- 55 DRk E 23 4) [3H LA B
St | 7 RS0 n oo [T O ORMNTCEREED | g
AR (BB REOEF I T T80 IEIZHE30 H BAN pili3
@ BRAZOBRBKR(SH2EED Bfi:N)
X 4y Bk i 7
BIREEK
o IREF K
7t
4 BEDORNRRUBHLS DK
D ARUDEBH(SF2EE BAL: A)
PfT: Ttk N S B
0 0 0 0
Q BBUADEB(ST2EE BAL:A)
%= WA 15k Stk 7t
0 0 0 0




5 BEORBORER
O EFEEE-EHTORR (HH2EE)
FFIE OfF

6 BEOHHEDRR
D BEOWHEDKR (SH2EE BAI: N)

WHEA g =2

EFHE (RIE) 1
Y aHE 3
R AP HE 1
SCEAER TR EAHE 1
BB A P BHE 2
KW~ =T AR A EAHE 1
U RN EHERAIHME 1

it 10

7 BEROBURUF IO REDRKST
D BEOREDHOKR (FH2EE B A)

TE MR 73
INCILN 60

s NEHR 2 16
at 149




8 PO H. HEN(FTHIF4A1BRA)

IR T (B Fn24F fE 524)
X5y ey SRR DER ]
6 7 H# 12H ¥ &t
0T = Fekk 760,000
HIET & KBk 646,000 1.675H 1.675H 3.35H
HEE Fe sk 579,500
R R 330,000
EES R 280,000/9| 1.675H 1.675H 3.35H
3=l B {0 255,000
NEZEEESNLDREEIE
(1) BB S B AR E Ok o4
(2) RRERAL3 2B DA RS 3R off:




